{A, 3 .7@%@&&@ 7KE)

v
) | x\(\J w Q N

SR
0016010
OO0
O
3 ®
. “
N -~
l j—/»,\“\j'\“ l')
H Ny ;
,'/\"—/”\_,,-'/‘ = 4\'_\ ")
Nt O:mIFAEM A v

O BEEREMR



K& Gall)

= ; (B%E)SMIFEE
-l HE =[ ﬂEFEﬁEFié]ﬁE iﬁiﬁg'—g =[ ’*x
No. ki & FEH LA B oeTEQ/L) | (e-TEQ/L) é%ﬂ%ﬁ;ﬁfﬂ
I CEE BEER)I4E FINE 0.19
PIREZ I EEISEXES 0.11
3 [#851 N 0.28
4 [#) % 0.42
5 |&FAIJI =8B 0.088
6 |EEHII AXXE 0.33
7 |fEA] s = T 0.084
8 |[HiB)I i _E K Rl 0.29
10 [FREII B G 0.065 1 UTF ' '
11 [FREII EHIIE 0.17
12 | &KE]I RS 0.19
IFES=31 RS 0.25
14 [#)11 ZHIE =18 0.081
15 [XZ&EII ELRE = 0.25
E=T WEE EHiREE 0.31
17 [B4EI LIS =1 0.12
18 [ZREXII EXE = 0.099
O OB 0.19
JKE GEig)
5 - 5 (BE)SMIEE
s s FEER IREEE F e
2l = 5 =] =[] £
NO. 7Ki—j% J;]Eﬂﬂ,m% DHE*%EQ (pg—TEQ/L) (pg—TEQ/L) é@(pﬂgﬂ_%é&%l_%ﬁ@
1 |EEEE B-10 0.070 -
2 |[EBEF ) FINE 0.069 Efﬁﬁ:;i:’yﬁ 0.012 ~ 0.28
3 | EER Hu-5 0.069
OB @ 0.069




W
AR

@1
@Z;n

Y RKEGHE N AR (EH)

C



EE GalD

= - 5 (BEZ)SHSEE
=@ = Ejﬁﬁﬁ%% Eﬂiﬁg’—% = er
2 &/ = HH FREN
No.| Jkisi# mabas | wEem | N0 | oie)p | SESERREGHE
(pg-TEQ/g)
1 |BEER)II BRER)I14E FNE 0.20
2 E&EEJII ;;ﬁ:;ﬁ 7.3
3 [@sI oy - 0.72
4 I8 £k B 27
I I
g %ﬁ” Emﬂ% p— g:}g 150 WU 0.058 ~ 430
7 K= =ELEBE =)l 0.22
8 | &S EtXXESE 1.3
9 [BAEJI LS =B 0.51
10 |ZAXII  |[EXE =T 72
EOH OE 2.3







KB

5 T (BF)THSEE
- - AAERER RIEEE S A 4ot

(pg-TEQ/Q)
1| = riEl H R ET 0.058
2 |+ FaET = g 0.058 . N
BN SLA 0.058 1 LT 0.00028 ~ 0.67
4 |SWTHigTHT 0.058

oY OE 0.058




.f"u-"xf
'3.?211‘ ,_.-"_"-i .--\_;I;l‘q_\ﬂ/-)l }
et |
£ wr";f Li) I_f:} c7
A 5 QK_/”H’\H\S/"'{
>0 °
s. L
7

¥ |

'»:, xﬂ}ﬂ\

s §
[ N
_l;imxﬁ-f_“’ _HN‘—\__),«._H_ F"“\M f

O —RBRBHEE®A
[] : S 4&RED®RINEFRE A



+ 1 (—RIBIERE)

= - : (B&)SHIEE
=[ H i .\E iﬁ%‘% = i
No. A AapmE | AERER R SEHEERGE
- (pg-TEQ/g) (pg-TEQ/g) (oz-TEQ/8)
1 | S aEl HEET 0.10
=\
L =N e 1,000 T | 000034 ~ 200
4 |E¥AThiE;THT 0.14
oY OE 0.31
15 (A ERDEE)
= - .~ (BZ&E)SHSEE
=@ = & "El: it%& = =
No. A mapmE | AERER B S ERERREH
I (pe-TEQ/g) (pg-TEQ/g) (be-TEQ/®)
S BT = A ] 0 1,000 BT | 0.000060 ~ 110
oY OE 20




